F1-4-1 FNRIERE

4y | RIEPER % B | PBER | _TEERO R | THERE
22 % u [mwm ] ®=op | ¢ S| A & (BHE) I EECMES

EEMiE

= E 60 44 73.3 1 0 44 42 95.5 70.0

X B E 0 0 - 0 0 0 0 - -
& &t 60 44 73.3 1 0 44 42 95.5 70.0

BAXEATE

% E 24 19 79.2 0 0 18 17 94.4 70.8

x B E 7 6 85.8 1 0 5 5 100.0 71.4
& &t 31 25 80.6 1 0 23 22 95.7 71.0

NFFBRE= (T BRIANR/ HIEER) X 100
DFFEEER=(F4LEREBEH/ FHEHATELH) x 100
_ RI1-4-2 A4 KIBRAE _ _

B &= | £F5A8H R [STOER BERX | BRalH ]| phile )] BRAE | BEF | Uikl
B0720 $63.10. 1 Fidsa mE 12 H16. 7.12 349 H16.11.11
B0749 H1.9.18 | FERM ER 12 H16. 7 .23 415 F=HE = HRIE
B0750 H1.9.18 =5 TE1 10 H16. 7 .26 794 F=4 3R
B0766 H1.9.27 =i EER 10 H16. 7 .26 376 H16.11.11
B0810 H2.11.29 B TE1 10 H16. 6 .11 340 H16.12.8
B0829 H3.5.21 b Sk 10 H16.7 .16 408 H16.11.11
B0843 H3.11.30 B TE1 7 H15.7.5 772 H16. 3 .11
B0846 H3.12.6 BE [fLWIYR 8 H15. 6. 4 373 H16. 3 .11
B0872 H4 512 Eh Y 9 H16.6 .14 334 =4 =EHIE
B0904 H5.5.11 [ FIZR (AT YIX) 8 H16. 7 .23 374 Al KR
B0939 H6.4.8 = xAH 9 H16.7 .5 362 =4 EHRIE
B0946 H6.4.18 BiE S 8 H16. 7 .23 380 Al B
B0948 H6.4.22 2K 3 8 H16.7.8 413 Al KR
B0953 H8.6.16 [ FIZ=R EAH 8 H16. 7 .26 427 F=HE %Ak
B0962 H6.6.27 | FIB=R 3 6 H15.7 .15 393 Al NEX
B0978 H6.12.4 =5 £ 8 H16. 7 .26 413 Al %A
B0980 H6.4.26 | BRK TEE 7 H16. 6 .14 383 Al %7
B0981 H6.5.9 [ BAREK iR 7 H16. 7 .26 369 Al KR
B0986 H7.3.26 7Bk B 7 H16. 7 .20 370 Al KR
B0990 H7.4.5 BEiE b 7 H16. 7 .23 380 Al KR
B0992 H7.4.6 B %A 6 H15. 7 .10 388 H16.11.11
B0993 H7.4.7 2K BLR 5 H16. 7 .20 361 Al KR
B0995 H7.4.10 =53 Eh 5 H16.1 .14 590 Al %7
B1006 H7.7.12 [ F1ZR P82 5 H15.5 .26 343 F=HE =EHIE
B1009 H7.7.18 | f1Z= %h 7 H16. 7 .16 371 Al 2Hh
B1012 H7.724 | F1%R EAh 6 H15.7.8 400 F=HE =HRIE
B1025 H7.10.9 353 =5 5 H15. 7 .28 402 =4 EEX2
B1044 H8.6.10 | FIZ=RE 3 7 H16. 6 .22 329 Al %A
B1050 H8.6.16 [ F1ZR =53 1 HI 1.5 .31 I H16.3.11
B1051 H8.6.16 | F1Z=R =8 5 H16. 7 .26 367 Al KR
B1063 H8.7.1 | FIBXR = 3 H15. 7 .10 801 Al REFE
B1065 H8.9.16 5K EAh 5 H16.12. 9 352 Al El
B1067 H8.9.17 5K Pt 6 H16.7 .12 362 Al %7
B1077 H8.12.9 5K R 4 H15. 7 .11 403 =4 T %hR
B1088 H9.4.1 [EXEE E3 5 H16. 7 .29 416 F=4 =EHEIE
B1118 H9.9.19 5K EhH 4 H16. 7 .26 367 F=HE =HRIE
B1128 H9.10.7 HiK S 4 H16. 7 .23 410 =4 =EHEIE
B1153 H10.5 .22 = 3 4 H16. 7 .26 383 F=HE =HRIE
B1173 H10.9 .17 e xAh 4 H16.7 .5 362 H16.11.11
B1174 H10. 9 .21 =g 5 2 H15.5 .20 337 H16. 3 .11
B1187 H11.4 19 |[EXEE HiK 4 H16. 7 .23 386 Al K
B1188 H11.4 .20 |[EXFE| MZE 2 H15.10. 8 401 F=HE =EHIE
B1190 H11.4 22 A X 3 H16. 6 .22 344 Al BREE
B1191 H11.4 .23 |EXFE| MZE 3 H16.8 .2 370 Al 2k
B1201 H11.6.7 TR E3 3 H16. 6 .29 349 F=4 =EHIE
B1221 H11.6 .24 =94 MZR 3 H16.7 .16 368 Al %A
B1226 H11. 6 .29 5K Eh 3 H16. 7 .16 408 F=H =EHIE
B1235 H11.9.9 =g R 2 H16. 7 .23 541 x4 EER
B1244 H11.9 .21 A xh 3 H16. 7 .29 434 F=4 HETE
B1252 H12.4 14 |EXFE TR 2 H16.1.18 580 F=HE =HRIE
B1253 H12.4 14 |EXFEE HiK 2 H16. 7 .23 420 F=4 =EHIE
B1260 H12.6 .13 = 2Bk 1 H15. 7 .11 HE F=HE =HRIE
B1263 H12.6 20 | &R LIEZ 2 H16.8 .2 370 Al i




=x7-4-2 AFEFIERE

BEAEE | E5AH < BOR EX | BEPBH] pEum | BRAE | BRF | UL
B1270 H12. 6 .25 5K EA 1 H15. 5 .26 HE F=HE B HRIE
B1273 H12. 2 .26 =K =5 2 H15. 7 .29 HIEE F=H R
B1281 H12. 6 .29 =) MEE 1 H15.6 .2 HE F=HE = HRIE
B1288 H12.7.5 5K HEES 2 H16.7.8 395 F=4 EEXE
B1292 H12.7.6 5K MEE 2 H16.8.2 704 F=HE = HRIE
B1301 H13.3.7 RS Eh 2 H16. 7 .29 314 F=H =EHEIE
B1322 [ H13.5.12 | & %R 1 H15.7 .28 E F=HF =R
B1400 H15.5.22 | =fEk KK RIRE Al 2Hh
B1401 H15.5.22 | =1&% ki xBE F=4 =EHIE
B1404 H15.5 26 |RIdtEL| ZR RIRE Al 2Hh
B1406 H15.5.30 | EE% | EXFEx RIRE FEH = HRIE
B1407 H15.6.2 | &$EX TR RBRE Al BREE
B1410 H15.6 .4 | &1EX xA RIRE =
B1411 H15.6 .4 |RIdEEL TR RBE Al KR
B1413 H15.6.9 | &% TR xEBE Al g
B1415 H15.6.9 | &{EX =5 RIRE =4 =EHEIE
N0297 H15.6.9 210 676 (ZH) 6 H16.9 .12 437 =
N0347 H7.4.4 e 676 (£5) 8 H16.7 .2 372 H16. 7 .22
N0356 H8.4.8 E£E 210 6 H16. 7 .30 387 =4 5=
N0373 H8.5.5 HiE =3t 3 H16. 7 .28 385 F=4 ==
N0374 H9.5.20 EFE ftia 4 H16.7.5 362 F=HE 5=
N0375 H9.5.26 g LT 5 H16.9 .13 427 F=4 3R
N0384 H10.9 .17 FEx 210 4 H16.7.2 366 F=4 5=
N0385 H10. 9 .21 EE e 3 H16. 6 .25 581 F=H B2=
N0399 H13.3.19 | =FHK EE 2 H16.6 .11 350 F=HE 5=
N0400 H13.3.23 | EFR =F£ 1 H15. 9 .20 W F=H B2=
NO0401 H13.3.28 | EF# [Nas RIRE FE=4 2Bk
N0403 H13.4.2 | EF& 210 2 H16.9 .6 432 FELZA JIRE
N0404 H13.4.16 | EFH& o 2 H16.8.9 328 F=4 5=
N0412 H13.5.8 W =5 1 H16. 7 .23 I F=4 TZha
N0414 H14. 3 .14 ZA REE 1 H16.7 .8 HE F=HE 5=
N0415 H14.3 .8 EIN =¥ 1 H16. 7 .23 E FEHZA | 20
N0416 H14. 3 .26 =& wE 1 H16. 7 .29 HE F=EH4 5=
N0418 H15. 6 .26 S o xBE Al 38
N0420 H15.7.2 E A RIEBE =
N0421 H15.7 .2 & OB RIRE Al 2Hh
N0426 H15. 7 .14 = [Nas xEE Al JI=
N0802 H3.4.14 [ #®ut [ 676 (BH) 9 H16. 8 .23 420 F=4 i
N0814 H4.5.1 210 Ao 8 H16.7 .2 365 H16.7 .2
N0824 H5.5.9 210 676 (Z5) 7 H16.7 .16 366 H16. 3 .11
N0847 H7.10.9 E=FE 210 6 H15. 7 .11 413 Al B
N0849 H8.4.7 E£E 210 5 H16. 7 .23 386 F=4 ==
N0863 H9.10.2 FOER E=FE 4 H16. 7 .20 383 F=HE 5=
NOB65 H10. 3 .31 FNES 210 3 H16.7 .5 366 F=H B2=
N0887 H12.5 .22 Hx 210 2 H16. 7 .23 387 =4 5=
N0893 H12.6 .17 5% 210 1 H15.7.9 HE F=4 =EHEIE
N0897 H13.4.5 | EF#& 210 1 H15.7 .14 HE F=HE 5=
N0898 H13.4 .21 | EFK EEY 2 H16.6 .14 329 =4 ==
N0903 H14.6 .3 Ok 1 H16.6 .14 HE F=HE =
N0904 H14.6 .3 S 210 1 H16.9 .22 HE =4 i
N0910 H15.7 .2 &= REIZE 2Bk
N0913 H15.7.9 S &= RIRE Al 2B
N0916 H15.7 .16 5 210 KIRE 2 Hh




